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=251 S Al 2¥2 0ppm < LC50 < 100ppm(V/V) Y of
222 S Al 2FA 100ppm < LC50 < 500ppm(V/V)Y
=53 Y Al 54 500ppm < LC50 < 2,500ppm(V/V)Y
254 S A2 2,500ppm < LC50 < 20,000ppm(V/V)Y
T4 = o1 f3HA 7I&(GHS ; Globally Harmonized System of Classification and
Labelling of Chemicals)
221 5 Al 2HAH 0ppm < LC50 < 100ppm(V/V)Y T
222 S Al 2ZEA 100ppm < LC50 < 500ppm(V/V)Y
223 592 Al 54 500ppm < LC50 < 2,500ppm(V/V)Y
2324 S Al |22 2,500ppm < LC50 < 20,000ppm(V/V) L
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[sH4] SEIIAL EHSESHA (L= 2AFS2I0(Le Chatelier) SAI2
EEIIAO| ELIEEHA|(L) S 2AFS2|0f(Le Chatelier) 248 018301 78 + A
0|85t ++&t &~ ULt 100/L =V /Ly + VL +Vy/ly +

100/L =V, /Ly +V,/L, + \/3/L3 +

Vv, 0l 60, L, 0 4.0, vV, 10, L,0l 5.0, V50fl 20, L0l 1.42

V.0l 60, L, 0l 4.0, V,0f 10, L,0ll 5.0, V30l 20, L0l 1.45 Mt

CHQl 5t 100/L = 60/4 + 10/5 + 20/1.4 = 31.28
100/L = 60/4 + 10/5 + 20/1.4 = 31.26 L= 100/31.28
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31.26vol.%0|C}.
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LEIAZ, AHE AT VtAE 25 DYIIAO|CE P, = (P + 0.1033)MPa x (T, + T;) - 0.1033
= (0.9 + 0.1033) x (273 + 35) + (273 - 40) -
0.1033 = 1. 223MPa
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